SYMBOLIC LOGIC

PREDICATE CALCULUS: SEMANTIC METHODS
WHY TRUTH TABLES WON’T WORK
Semantic methods yield truth values by tying sentences to the world.  In sentential logic we use truth tables, which tie truth values of atomic with compound sentences.

EXAMPLE (sentential)
If Andrew is a college student, Andrew has been to elementary school.

Andrew is not a college student.






Andrew has not been to elementary school.
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EXAMPLE 2 (predicate logic)
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Problem: To show validity (of FORM), you have to check all the possibilities.  
Solution: To show invalidity (of FORM) in any logic, via a semantic method connecting sentences to a world, all you need is one counter-example (through English interpretation or instantiation in certain ud.
